



OVER 20 YEARS AND 90 DENTAL CLINICS IN MEXICO LOTS OF TODDLERS, TACOS AND TEQUILA!



Ensenada Dental & Vision Clinic



Sponsored by the Rotary Clubs of Irvine, Manteca, San Juan Capistrano, and Ensenada Calafia in association with Manteca Optical and Dental Care for Children.



\$64,911

October 12, 2024

Procedure	Quantity	Value	Amount
Dental			
Examinations	76	\$134	\$10,184
X-Rays	30	\$46	\$1,380
Prophys	14	\$147	\$2,058
Gross Scaling	2	\$352	\$704
Sealants	22	\$70	\$1,540
Fluoride	76	\$34	\$2,584
Filling - Composite 1 surface	17	\$278	\$4,726
Filling - Composite 2 surfaces	14	\$361	\$5,054
Extraction - Simple	27	\$257	\$6,939
Extraction - Surgical	3	\$399	\$1,197
Oral Health Instruction	15	\$55	\$825
Total value of free de	\$37,191		

VISION

Total value of free vision services provided			\$27,720
Glasses	118	\$85	\$10,030
for further pro-bono examinat	ion and treatment.		
3 referred to local ophthalmol	ogist arranged by F	Rotary Club of Calafia	
Examinations (ages 3 to 78)	145	\$122	\$17,690

Grand total of all free services provided

dent

Dental Care for Children is operated entirely by volunteers to put every dollar possible toward patient care. For more information or to see how you can help, please visit us at **www.DentalCareForChildren.org**

Another great project by the San Juan Capistrano Rotary Club



Ensenada Dental & Vision Clinics



Another great project by

line

Potar

Sponsored by the Rotary Clubs of Irvine, Manteca, San Juan Capistrano, and Ensenada Calafia in association with Manteca Optical and Dental Care for Children.

PROJECT SUMMARY



Dental Care for Children 33 Years, 347 Clinics, 179 Mexico (38 Rotary). Each clinic provides \$25k - \$100k of free services \$14 million total, \$6 million in Mexico

March 2024 Clinic Dental - 62 patients, Vision - 130 patients (referred 10 for local treatment) Total Value of services: \$54,830

October 2024 Clinic Dental - 76 patients, Vision - 145 patients (referred 3 for local treatment) Total Value of services: \$64,911

Total Value of 2024 Clinics: \$119,741

Rotarians & Rotary Exchange Students San Juan Capistrano: 14, Irvine: 8, Manteca: 2, Ensenada Calafia: 30, Exchange Students: 13, Rotaract: 5

Dental & Vision Teams Dentists: 7, Dental Students (USC): 28, Other: 2

Work Projects March - Painting school buildings October - Build an English language library to facilitate children learning English

Photo Gallery: https://www.sjcrotary.org/2024-dental-vision-clinic





Ensenada Dental & Vision Clinic



Sponsored by the Rotary Clubs of Irvine, Manteca, San Juan Capistrano, and Ensenada Calafia in association with Manteca Optical and Dental Care for Children.



\$60,751

March 15, 2025 Escuela Pedro Maria Anaya, Ensenada, BC, Mexico

Procedure	Quantity	 Value	Amount
Dental	Quantity	Value	Amount
Examinations	64	\$134	\$8,576
X-Rays	42	\$46	\$1,932
Prophys	35	\$147	\$5,145
Gross Scaling	11	\$352	\$3,872
Scaling & Root Plane	12	\$368	\$4,416
Sealants	21	\$70	\$1,470
Fluoride	45	\$34	\$1,530
Filling - Composite 1 surface	13	\$278	\$3,614
Filling - Composite 2 surfaces	6	\$361	\$3,249
Extraction - Simple	26	\$257	\$6,682
Extraction - Surgical	1	\$399	\$399
Root Canal - Pulpotomy	1	\$255	\$255
Root Canal - 1 Canal	1	\$890	\$890
Crown/Bridge - Stainless	3	\$350	\$1050
Oral Health Instruction	21	\$55	\$1,155
Total value of free de	\$44,235		
VISION			
Examinations (ages 3 to 78)	88	\$122	\$10,736
5 (all same family members) r	eferred to local oph	thalmologist arranged by	
Rotary Club of Calafia for furt	her pro-bono exam	ination and treatment.	
Glasses	68	\$85	\$5,780
Total value of free vis	\$16,516		

Grand total of all free services provided

Dental Care for Children is operated entirely by volunteers to put every dollar possible toward patient care. For more information or to see how you can help, please visit us at **www.DentalCareForChildren.org**





Ensenada Dental & Vision Clinics



Sponsored by the Rotary Clubs of Irvine, Manteca, San Juan Capistrano, and Ensenada Calafia in association with Manteca Optical and Dental Care for Children.

PROJECT SUMMARY



uan Capistrano Rotary Club

Dental Care for Children 33 Years, 347 Clinics, 179 Mexico (38 Rotary). Each clinic provides \$25k - \$100k of free services \$14 million total, \$6 million in Mexico

October 2024 Clinic Dental - 76 patients, Vision - 145 patients (referred 3 for local treatment) Total Value of services: \$64,911

March 2025 Clinic

Dental - 76 patients, Vision - 145 patients (referred 3 for local treatment) Total Value of services: **\$60,751**

Total Value of 2024-25 Clinics: \$125,662

Rotarians & Rotary Exchange Students San Juan Capistrano: 14, Irvine: 8, Manteca: 2, Ensenada Calafia: 30, Exchange Students: 13, Rotaract: 5

Dental & Vision Teams Dentists: 7, Dental Students (USC): 35, Other: 2

Work Projects

October - Donating bookis for an English language library to facilitate children learning English March - Painting school gate and fence, donating books for English language library.

Photo Gallery: sjcrotary.org/2025-ensenada-dental-vision-clinic

<image>